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Int a, b, tmp;

tmp=a,

a=Db;

b=tmp;
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#include <stdio.h>

int main(void){
int a[5],tmp,i,j;

for(i=0;i<5;i++){
printf("%d B DHF: "i+1); printf("/NELMBIZ I R FER: ™);
scanf("%d",&ali]); for(i=0;i<4;i++){
} printf("%d,",a[i]);
for(i=0;i<5;i++){ }
fqr(j=-i+1; j_<5; ) printf("%d¥n",a[4]);
)
afi]=alj]; }

afj]=tmp;
}
}
}
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Int a[4]
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#include<stdio.h>

iInt main(void){
int a,;

printf("#1FZ A AL TFZELY, ¥n™);
scanf("%d",&a);

if(a%2==1){
printf("EBIFILF T, ¥n");
}else{
printf("EIFILIBE T, ¥n");
}

return O;
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#include<stdio.h>
int main(void){
int a,A,B,C;
if (A==B&&B==C){
printf("314 1= B %% A AL TFEL printf(*f5¥n”);
¥n10fiz, 10041, 10001l F L } else If (A==B||B==CJ|C==A){
MELOE2DHNILE, Z5TRITNIL printf("E¥n");
fB¥n"); } else{
printf("{¥n");
scanf("%d",&a); }
A=a/100;
B=(a%100)/10; return(0);
C=(a%10); }
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int a[3];
printf("3#TM B A% Z A AL TT L ¥n");
scanf("%s",a);
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#include<stdio.h>
int main(void){

int m,n:;

intc=""

printf("B %% A L TZELY,
scanf("%d",&n);
printf("%d=",n);

if (n==1) {
printf("1¥n");
return(0);

}

")

for (m=2; n!=1 ;m++){
while(n%m == 0) {
n=n/m;
printf("%c%d",c,m);
c="

}

}

printf("¥n");

return(0);

}
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